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NOTE: Write answers to the questions on chjective answer sheet provided. Faur possible answer A,B,C

& Do each

question are given. Which answer you consider correct, fill the corresponding circle A B,C or D given in front of each
question with Marker or pen link on the answer sheet provided.

1. The degree of Polynomial 4x4+2x%y is___.
A 1 | 2

2. Factors of 8x%+27y3 are :
(A) (2x+3y)(4x2+9y?) (B) (2x-3y)4x2-9y?)

3. The square root of a2-2a+1 is

A) H(@+1) (B) a-1
4 A Statement mvolvmg any of the symboi <>, <or>
" iscalled ;

(A) inequality =il
(C) identity ﬁcvuéépz/u}//.';ﬂabl/(){l
5. If(x-1,y+1)=(0,0) then (x,v} is

A 1.-1) 8y (1,%)
6. Mid Point of the Poaints (2,-2) and (-2,2) is:
n 22 (B) (-2.-2)

7. The Symbol used for correspondence is

A ——r B) a——r

Diagnols of a Parallelogram divides the
* Parallelogram into Congurent triangles:

A 2 (B) 3

The right bisector of the sides of an obtuse triangle
intersect each other. the triangle:

(A) Inside s (8) Base it

12, crossponding sides are

(A Equal . (B) Different &

11. Area of given figure is : Z
(A) 18cm? (B) 32cm?
12 If three alfitude of triangle are congruent, then the
" triangle is

(A) equilateral Lyl

(C) isosceles ALl
vZ 0 ]
13. [ is called
0 V2
A Zeraypm
-1
14. (25\7
(16 5 4
(A) g (B) E
15. The logarithm of any number to itself as base is

Matrix :

(8) Scalar A°

A 1 (8) 0

If two triangles are similar then the measure of their

q.,(;’ By {1 TP R ¥

<) 3 D) 4

Wt L B3 27y0

2

(€) (+3IYNDE-Gxy+Oy?) (D) (26-By) A+ Gy +9y?)

— & A7 at-2at
(C) x(a-1) (D) a+1
4B bt L e f <> Ut
(B) equation wil-
(D) linear equation «itFusl

e 41 (XY (%134 1)=(0,0).

© 1.1 o) (-9
e B0l K (2,-2) 292, 2)58
(€) (0.0) ™ (.10
e B litertid Lo it
€) = o) =
b RO e 20 K3 Sn
(C) 4 D) 1

d:; vvvvv Lw:r(m/}lwgh’b"ﬁdnf‘C&W‘&hihﬁg}’},?/w
apiS

(C) Hypotenuse 7» (D) Ouiside 41

M S LWy FEL T U S S
. (€) Proportional -t* (D) Large <
4“:"' ~~~~~~~ P &
{C) 16cm? (D) 36cm?

A Hmtod g f 17t U L s LS
(B) right angled /76
(D) acute angled /it

i [ 0]

) 0 ﬁ
© Unit ey ®) Singular st

=k,

()T
4"— (16)
© 7 ® 3
e st R st S J‘; /fs’[_)ﬁu’( g1
(C) -1 (D) 10
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L ‘ Time:2:10 Hours £82:10023, ‘ 6054
Section-I 2x18=36 Jit
2. Write short answers of any six parts from the following ~ 2x6=12 gL g S Langedd e giditn.?
i.  Define rectangular mafrix. : : Ly e B i
— 1 07,70 27,71 1 1 07,00 27,71 1 i
~ Stmply. L 1+ o+ o PR ol o hid
ii.  Evaluate i% e A il
V. Simplify (-7+3i)(-3+2i) and write the answer in the A eSS atbi L (7 x'%l)( 342i) Y
- form a+bi A
v.  Express 0.00000000395 in scientific notation. N rf 55/0.00000000395 Y
vi. Evaluate log,3 X log,8 log,3 * logs8- 250"" " Vi
_vii.  Simplify. /77 T i
500 -
viii. Rationalize the denominator. 1 i
34245 &L/
ix. Factorize. x3-11x-42 KAix-42 gy W

3. Write short answers of any six parts from the following ~ 2x6=12 A P iz S Lo g ebd e sk 5t 3

Use factorization to find the square root 4212449 PPN o B
Define linear Equation. ‘ i I %,/J()(MJL, Bl RIS
Solve the inequality. , 4% — 103 < 21x — 1.8 eSS el . Rit
Define order pair. ' ; S f R v
Draw the point (4,-5) on the graph paper. ' ISy & s 51/ (4,-5) s Y
Find the Qistance between given points with the (0 2), V(-3 0)-s /( ),, LebbE Z_ Lresh Sy 646 AV
help of distance formula. .
What is parallelogram. ' . ad Ve V0
What do you mean by congrueni:y of triangles. _ e Lvdui” VIII
in the g_iven paralielogram, find the value :f m. " N < frPlﬂuii)Uﬂ’Ufu’ ),;;‘3@, ,M
4m+n 10

L 8man M



4. Write short answers of any six parts from the following

i

iif.

iy,

.

"What is meant by bisection of an angle? _ P S BEE s D/
2cm, 4crn and 7om are not the lengths of the TN ? St £ st J

‘triangle. Give the reason. ' wobre Rt U £ 257 cmusdem 2em

, . </

Define Congruent Triangles. 4' i, f"__y Pl S

_Find the unknown x. 4F /r,J,» _.,gd’xpl,»t

2x6=12 ~q//j..~,uz/f3’[,plmAgc,dlc_,u:ufj(-,u.'

lem
v.  Verify that the A having the following measures 4 }, 25 el 500 R
of sides is right angled. ‘ L Ee b Sy S 0A-uds yu‘/qu‘l_’Lu
a=5cm, b=12cm, c=13cm a=5¢m, b=12cm, c=13cm
vi.  Define Rectangular Region. , gSs S s A
vii,  Find the area. —— : LT
' . 3cm ) ‘
6 cm
viii. © Construct a A ABC, in which. wAB = 3cm,mAC = 3.2cm,m < A = 45° AUk AABC Y
ix. Define Incentre. ; I PSS st
| ~ SectionI Bx3=24 | r”»’
Noie: Attempt three questions in ail while C:No.9 Is compulsory: .9 A By Sy f el ety Jue
5.(a) Salve by using matrix inversion method. Ax+2y=8,3x-y=-1 IS T il Luds (a)
PN (81)11.35_(3)411*1(24‘3) n

() Simplify. e LS (b)
6.(a) Using logarithm o find the va llue of. Z@ﬂgféﬂ% ijr,wu,}g)ﬁgr}? £ (a)

’ 0.0075)(1278

(b) If g =+/5++ 2 find the value of ¢2 —-;2— | ypedS g - % v q=5+24 ()
7.(a) Find the value of K for which expression  y4dsd+4 0x2-kx+9-2 b8 S Ve CHTIOR 114 (a)

will became a perfect square. _ - ' '

(b) Factarize Polynomial by factor theorem. x3-6x2+3x+10 o f_}’M JuA L (b)

8.(a) Solve. - JE S @
x2-1  x+1  x+1’ d
~ (b) Construct the 4 ABC and draw the : _u{‘[JLLUJ’bJ’,Jb aagc )
bisectors of the angles. mAB = 4.2cm ,mBC = 6cm mCA = 5.2cm
9

: the end points of a line segment is on the -

Prove that if any point equidistance from L1355 eIt Sl s o £ 15 s 5 B Sy S et

right bisector of it. : OR _ L _ ¥ (ju/_.wtd;/
Prove that triangles on the same base and .;mumu(,w,;éumlunduxwh ok 2SS J/ .
saine altitude are equai in area. ({} e
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NOTE: Write answers to the questions on objective answer shect provided. four possible answers AB,C & D to each question are give. which answer
you consider correct, fill the corresponding circle A,B,C orD given in front of each question with marker or pen ink on ihe answer sheet provided.

l. (\/; +*/5)(de——«/3) is equal to: £ ‘ ~< Az (‘/‘6; + V@)(\E“\[b—)

[

@ g2 yp? ®) g -p? @ a-p . © g4p
2. The factors of X* ~5x+6 are: _ Y.V Ay (V. X -5%x+6 2
@ x+L,x-6 (® x—2,x~3 @ x+6,x-1 D x+2,x+3
3. HCFof x> —5x +6and ¥° -x-6is: _g,:_.(‘yl;lc(xz —x—=8mx*-5%+6 3
W x-3 B x42 @ -4 @ x-2
4. A statement involving any ofthe symbols <, > Sor= ,g_dmﬁa_uégywbgéf YL AN I ul“/,(j;( 4
is called:
(A)  Equation ol (B)  Identity st 2 d 1 2l
(C)  Inequality wlols F (D) Linearequation  wtsbsiBn
5. If(x=1, y+1)=(0,0), then (%) is: s (x,9) 90 (x~1, y+1)=(0,0)7 5
W (1-1) ® (-L1) @ (L1 ® (-1,-1)
6. Distance between points (0, 0) and (1, 1) is: ~ae il (1, 1) 510,00 465 6
@ o ®) 1 © o ™ 2
7. Arayhas_____ endpoints. A sten L g
@ o ® @ 2 ® 3
8. Each diagonal ofa parallelogram bisects it into —__congruenttriangles. -4t/ (‘:’7 SURS W elhliengne g
W @ © 3 ® 4
9. Cormresponding angles of similar triangles are: -U,?Z..ﬁd_...:f}n}&';‘ccu}ﬁ' A9
(A) EBqual JUi~ (B) Unequal i Vi (C) Collinear &% (D) Parallel (S5 ;
10.  The right bisectors of sides of a triange are: I riio 8o sf L et [_@Jﬁgf( .10

() Proportional .+  (B) Perpendicular »»*  (C) Concurrent L% (D) Collinear B

1. The region enclosed by the bounding lines ofa -A‘:.L“lkv( ¥ Pvans /. Helbe e 5 _1sd_SSse S s 11
closed figure is called ____ ofthefigure.
(A) Perimeter 4bi (B) Area S (C) Union ¢y (D)  Altitude i

12. Oneangle on the base of an isosceles triangle is 30° . Se W S stisL s 30° :.;l}h.gfrgxsﬁ’ﬁbﬁcﬁ? Uiisls 12

What is the measure of its vertical angle.?

@ 3¢° ®) ¢0° @ ogg° ™ 120°
13, The order of matrix [2 1] is: _ -4‘.,.9/:5’[2 1]'.,JE' 13
@ 2-by-1 ®B) 1-by-2 © 1-py-1 © 2-py-2
4. QYA ' VD Y Y
3.2 3 34 .2 3 ’
Gy SE. w ¥ ¢ 2= o 32
9 9 8 8
15. The logarithm of unity to any base is: ~ebsas Ll / Al “1”4uwu’ .15
@ 1 ® 10 © e ™ o '
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Mathematics (Dcienca Group)

Marks:60

vi.
vii.

viii.

iif.

iv.

vi.
vil.

viii.

i,

iii.

Time: 2:10 Hours
Section-!

Write short Answers of: any 5ix parts from the following:

. Define Transpose of a Matrix.
11 ¢
ii. fB= ,thenverifythat (B') = B
L o] Bt | ')

iit. Use laws ofexponents to simplify. '
. Simplify and write your answer in the form @ + bi

. Find the value of X

If log2 =0.3010, then find the value of:
x2y3 . 524
xyz

Evaluate for x =4,

Rationalize the denominator,

. Factorize.

Write short Answers of any six parts from the following:

Find the square root by factorization.

. What is meant by strict inequalities?

Solve:
Draw (-6,4) on graph paper.

: 9 0 N 21O =
If F= §C+ 32" and C =50, then find F .
Find the midpoint between (=5,~7) and (~7,-5).

Find the distance between A(-8, 1) and B(6, 1).

Find the value of "m" for the given congruent triangles.

Define Parallelogram.

Write short Answers of any six parts from the following:

CD isii ght bisector of the line segment

AB.1f mAB = 6cm, Find the value of
mAL and mLB

Givereason why 5cm, 10cm, 1 5cm are not the sides
of triangle. '

In ALMN shown in the figure _MN_II ‘@ if
mLM = Scm, m-L—Q- =2.3cm,

mff; =2.5cm then find mLN

’ M ) 2,931836

(2)65))'4)(—81‘"3))2)
—(-3+5i)—(4+9i)

A——kn B

S$.5.C - (Part-])-A-2022

2500101 5,

dj ey
HafeiaF L 1 ebleififitm

Sy

e Py~ @
(B) =BI<£QwB=[2 0}/1

Growp - 11 - »,’._/Jf '

2x6=12

2 S LT

AP S avbi

log 64 =2 e x
log32 i eedilog2 = 03010/
2.3 a4
x“y -5z -
y==2, z=-1 ,..6 Y _.__2::‘.’:}(.—/.:”!3
xyz

15 Y
o b F
31-4 v/

2 2
*1;2—-24";? ..r;_.‘::lj-/,'
w6212 Febtn L pe b el

_?f,-l.:‘*;k‘ (:ﬁ /J]J,I‘ﬂ‘ (5 /’ Ak

Ax® —12x+9
Tl e Jisl /j" byt

Px-5|=4 A
5 6 1 g3t/ 1(-6,0)

P FIC =50 F = -';)—c +32° /i

ZE e kil 5 W(=1,-5) o (=5,-7)
S Jie s L B6, 1) it AC-8, 1)
_’_.{Sr}"’/lﬁJ "m0 S

B 5m-3 D c
25y A
216=12 -, /." i /"-Ta‘cg-pl}'.' 13 (__(39( A 1},:56»

¢ s FEAB 15 S CD e S,

L pil] m-/:&—L— 9 m.A—B-'=6‘cm )’;4;,

-

pk
-Lﬂu.?;UQHJCWILwISCm 2110cm «5ecm fufl;i,y:

5 & LMN 288255 2.0
mLM =5cm Jie_MN || PO

mLP= 2.5cm'emfé =2.3cm

N . w3 mLN
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vi.

vii.

viil,

Noie: attemspt three quesiions in all while Q:No.9 is compulsory.

50a)

(o)

7}

)]

8.(a)

B)

Rwp-4 :"'2'2'“,

In given right angled triangle find the value of X

Define Pythagoras Theorem.

Find area of given triangle.

What are congruent area axionm.
Construct 2 A4BC when:
Define Similar Triangles.

Section-il

12cm)|

mAB = 3.2cm, mBC = 4.2¢cm, mCA=52cm

e i xS v
Jem

_zf..,a_/}gf._-,)l:g.l? v
e A I

e drvud S i
12zt ABC &L viii
ol i

8x3=24 (9352

.4.;;109/?‘,!:;-.4223{4;’.:4&4:.:41:,»@;5 Jawd

Solve the given system of linear equations by the 3x-2y=-6 X Sl e fus Luds (LH)s
matrix inversion method. 5x-2y=~10 ‘_ér,l"uf‘-’ J y ol

(81)".3 —(3)"" (243)

By using laws of exponents simplify. L L lved (L)
Y 4 Y p (92n ) (33 ) s ; g
(I .23)(0.6975) . -
Use logarithm to find the value oft Ty . Y gt sz &9 Buills
: (0.0075)(1278) a
P o 1 . -
I P = _L+\/5 , then find ibie value of P? —— -Z-:rJ”ML(PZ = ;., iP=2 -ljx/gfl )
: Fa - ¥
Factorize cubic polynomial by factor theorem. Y43t —10x+8 -.’_{f{j ;.. 9 ,L?LS' Bl era J ¥ f Lo (L
Find the value of "/ and "m" for which 49x* —70%* +109x% +Ix—m u’-’z_fr:l"c;f‘f"m T Gl
expression will becoms a peafect square. ilerl s (...g’ Al
5{x-3 x
Fiad the soluiion set of given equation. -—(—6——2 —x=1-— _Ezf r;l"‘ xSl ‘31’ ¢ (g
Consiruct the £4BC . Draw the mAB=24dcm, mAC =3.2cm, m< A=120" Lzt ABC &5 ()
perpendicular bisectors of its sides. = oot LU
l l 3
Prove that any point equidistant from the end points of a L5 5 103 e S s 2 L 15 o Uj .h'ih,gfl 9
line segment is on the right bisector of it. Bty

OR

Prove ihat parailelogram on equal baces and having the same

(or equal) altitnde are equal in area.

b

%} IS5 YT el s) 5134_,(.,):;5 Gl 2{ el

st
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